
2 dxabl`a 9 libxz

xicbp v, u ∈ R2-l (1

. 〈u, v〉 = x1y1 − 2x1y2 − 2x2y1 + 5x2y2

.R2 lr zinipt dltkn deedn ef divwpety e`xd (`)

.‖v‖ z`e 〈u, v〉 z` e`vn .u = (1,−3), v = (2, 5) eidi (a)

:R3 lr zinipt dltkn zeedn `l ze`ad zeivwpetdy e`xd (2

〈(x1, x2, x3), (y1, y2, y3)〉 = x1y1 + x2y2

〈(x1, x2, x3), (y1, y2, y3)〉 = x1y2x3 + y1x2y3

.Mm×n(R) lr zinipt dltkn dpid 〈A, B〉 = Tr(BT A) ik egiked (3

-xletd zeiedf" z` egiked .F dcy lrn zinipt dltkn agxn V didi (4
:"divfi

〈v, w〉 = 1
4
(||v + w||2 − ||v − w||2) f` F = R m` (`)

f` F = C m` (a)

〈v, w〉 =
1

4
(||v + w||2 − ||v − w||2 + i||v + iw||2 − i||v − iw||2)

miiwzn v, u ∈ V lkl ik egiked .zinipt dltkn agxn V idi (5
:"ziliawnd oeieey" (`)

‖v + u‖2 + ‖v − u‖2 = 2‖v‖2 + 2‖u‖2

.‖v + w‖ ≥
∣∣∣‖v‖ − ‖w‖

∣∣∣ (a)

xehxte` T : V → V `die F dcy lrn zinipt dltkn agxn V didi (6
:ekixtd e` egiked .ix`pil

.v = 0 if` .〈v, u〉 = 0 miiwzn u ∈ V lkly jk v ∈ V didi (`)

if` .〈v, w〉 = 〈u, w〉 miiwzn w ∈ V lkly jk v, u ∈ V eidi (a)

.v = u
.T = 0 if` 〈T (v), u〉 = 0 miiwzn v, u ∈ V lkl m` (b)

.T = 0 if` 〈T (v), v〉 = 0 miiwzn v ∈ V lkl m` (c)
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